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9. If the middle term in the expansion of ሺͳ ൅  ,ሻଵ଴ is twice the seventh termݔ
then ݔ ൌ  ڮ
a) 0.2  b) 0.4  c) 0.6  d) 0.8 
 
 
10. If ܤܣሬሬሬሬሬԦ ൌ െ͵ଓƶ ൅ ͵ଔƶ ൅ ͹ ƶ݇ , and ܥܤሬሬሬሬሬԦ ൌ ଔƶ ൅ ͷ ƶ݇ , then צ ሬሬሬሬሬԦܥܣ ൌצ  ڮ
a) 8   b) 10  c) 12   d) 13 
 
 
11. If ݔ ൌ ଶݐ͵ െ ͳǡ ݕ ൌ ଷݐ ൅ ʹ, then ௗ

మ௬
ௗ௫మ

ൌ ݐ at ڮ ൌ Ͷ 

a) 48   b) ଵ
ଶସ

   c) ଵ
ସ଼

   d) 24 
 
 
12. The volume of the solid generated by rotating the region bounded  
by the curve ݕ ൌ ݔሺݔ െ ʹሻ a complete cycle about the ݔ-axis ൌ  cubic unit ڮ
a) ଵ଺

ଵହ
b) ଵଽ  ߨ

ଵହ
c) ଵ଻  ߨ

ଵହ
d) ଵହ  ߨ

ଵ଻
 ߨ

 
 
13. The trigonometric form of the complex number ݖ ൌ ହିξଷ௜

ξଷିଶ௜
 is .... 

a) ���� గ
ଷ
൅ ݅���� గ

ଷ
   b) ���� గ

ସ
൅ ݅���� గ

ସ
 

c) ʹ ቀ���� గ
଺
൅ ݅���� గ

଺
ቁ   d) ͵ ቀ���� గ

ଷ
൅ ݅���� గ

ଷ
ቁ 

 
 
14. The equation of the plane passing through the point ሺͳǡʹǡ͵ሻ and parallel to 
both the ݔ and y axes is ... 
a) ݔ ൅ ݕ ൌ ͵ b) ݔ ൌ ͳ  c) ݕ ൌ ʹ  d) ݖ ൌ ͵ 
 
 
15. A point is moving according to the relation ܵ ൌ ଷݐ͵ ൅ ଶݐ͵ െ Ͷ, then ௗ௦

ௗ௧
ൌ  ڮ

at ݐ ൌ ͵ 
a) 77   b) 88  c) 99   d) 111 
 




